SIGNIFICANT FIGURES

1.   All digits other than zero ARE significant.

     256 m has 3 s.f.

432.81 m has 5 s.f.

2.   Leading zeroes are NOT significant.

0.016 m has 2 s.f.

 0.30 m has 2 s.f.

3.   Captive zeroes ARE significant.



   306 m has 3 s.f.



2.001 m has 4 s.f.

4.   Trailing zeroes following a decimal point ARE significant.



30.50 m  has 4 s.f.



    2.0 m has 2 s.f.

5.   Trailing zeroes in numbers greater than 1 are NOT significant UNLESS:


A decimal point follows the last zero.



270. m has 3 s.f.


A bar is over the last zero that counts.



       _



27 000 m has 4 s.f.



27 000 m has 2 s.f.

6.   All zeroes in scientific notation ARE significant.



     5.0 x 102 m has 2 s.f.



3.0010 x 105 m has 5 s.f.

7.   When a measurement is from a definition, it has infinite number of significant figures.

                       1 m  =  100.000000….. cm

Calculations

Multiplication / Division

     Answer has same number of significant figures as measurement with the fewest sig fig

  3.2 cm    X   4.29 cm  =  13.8996 cm  =  14 cm


  (2 sf)             (3 sf)                                   (2 sf)


8.47 mL    (     4.2 mL    =    2.0166666 mL    =   2.0 mL

           
(3 sf)                  (2 sf)    
                                 (2 sf)

Addition / Subtraction

    Answer has same number of decimal places as measurement with fewest decimal places

9.309 g   +   64.2 g  +   98.235 g  =   171.744 g  =   171.7 g


(3 dp)           (1 dp)       (3 dp)                                  (1 dp)


12.689 L   -   3.45 L   =   9.239 L   =   9.24 L


(3 dp)            (2 dp)                             (2 dp)
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